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9’\\3@ 1) In AABC, if 2A =70" and BC =

10 cm, whal is it C'mcummd(uw

A)  BC =QSINA, 10 = B Sin 70°
QA % SN F0 =10
RTX 0:9393 =0
Y= MO Ciscumzadivs = -3 cm
AR x0-9297 -

T = g-32.c,m
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2) Two sides of a twiangulas shaped gowden ase (& m and (Sm
and the angle between these sides s 35° Find the anca of
this goaden.
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49 In AABC, doaw o pespendiculas o 48 fome.  /
CAADC is g zighki‘bfangle I?/
sin 35 = €8 e
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Azoa of the gonden = L yAB % cD
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3) Foom-he top of a building 60 m high the angles of depsession
of the 4op and bottom of a towen ane 36 and 60° wespe chvely.

Find the height of a towex.
An)  pB=60m

sinche argles of A qrse 30,60390°,its Sdesyill” ™

be inthe sabiol: 13 : 2

AB =60, AP = 6© QR = 6°.
=7 N

Since the angles of AQRE aze 267,607 90"

BR:%+J§: 60 - ¢o
o B 22

| AR: 60—-@0-: 4_0
PR = 4.
Height of the Howar =40
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